
Section 5.2
La résolution par
la factorisation

y = 2x2 - 18x + 28

2x2 - 18x + 28 = 0

2(x2 - 9x + 14) = 0
2(x - 7)(x - 2) = 0

x - 7 = 0
x = 0 + 7
x = 7

x - 2 = 0
x = 0 + 2
x = 2

PGCD



2x2 - 18x + 28 = 0
x = 7 x = 2

2(7)2 - 18(7) + 28 = 0
98 - 126 + 28 = 0

0 = 0

2(2)2 - 18(2) + 28 = 0
8 - 26 + 28 = 0

0 = 0

La solution est x = 2 et x = 7.

3x(x - 5) = 0

3x = 0

x = 0
 3

x = 0

x - 5 = 0

x = 5

x2 + 4x - 50 + 18 = 0

x2 + 4x - 32 = 0

(x + 8)(x - 4) = 0

x + 8 = 0
x = -8

x - 4 = 0
x = 4



36x2 - 9 = 0

9(4x2 - 1) = 0

9(2x - 1)(2x + 1) = 0

2x - 1 = 0

2x = 1

x = 1
 2

2x + 1 = 0

2x = -1

x = -1
  2

2x2 + 2x + 5x + 5 = 0

2x(x + 1) + 5(x + 1) = 0

(x + 1)(2x + 5) = 0

x + 1 = 0

x = -1
2x + 5 = 0

2x = -5
x = -5

  2

(x - 3)(x - 3) + 16x = 0

x2 - 3x - 3x + 9 + 16x = 0

x2 + 10x + 9 = 0

(x + 9)(x + 1) = 0

x + 9 = 0

x = -9

x + 1 = 0
x = -1

4 x2 - x - 2  = 0
   4  2

x2 - 2x - 8 = 0

(x - 4)(x + 2) = 0

x - 4 = 0
x = 4

x + 2 = 0
x = -2



1) (x + 6)(x - 6) = 0

x + 6 = 0
x = -6

x - 6 = 0
x = 6

2) 5x2 - 20x + 3x - 12 = 0
5x(x - 4) + 3(x - 4) = 0
(x - 4)(5x + 3) = 0

x - 4 = 0
x = 4

5x + 3 = 0
x = -3

5

3) 3(2x2 + 7x - 4) = 0
3(2x2 + 8x - x - 4) = 0
3(2x(x + 4) - (x + 4)) = 0
3(x + 4)(2x - 1) = 0

x + 4 = 0
x = -4

2x - 1 = 0
x = 1

 2
4) 4x(x2 - 18x + 80) = 0

4x(x - 10)(x - 8) = 0
x = 0 x = 10 x = 8

5) 4x2 + 4x + 9x + 9 = 0
4x(x + 1) + 9 (x + 1) = 0
(x + 1)(4x + 9) = 0

x = -1 x = -9
  4

Devoirs:
5.2 Jour 1 
Questions
Les questions à 
remettre pour 
mercredi
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